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1. 7 T VIR SRt 100 anfearst foremeati 33 faarmare semdte amifed fammdtem
(1) W& =W (2) 7Y wew
(3) TR (4) TS
The government has embarked upon an ambitious programme of sending
100 tribal students every year to reputed universities around the globe for higher studies.
(1) Madhya Pradesh (2) Andhra Pradesh
(3) Maharashtra (4) Gujarat

2, OOiHg oWF 9 WYoWs GIEdaT ait Aqen 98 o1 Anefeasl | GuEa : e ow &AE 7w
TEE A Tl qfeet ud I 92 fea.
(1) SA9eT 7T 161
(2) da9u™ TR T A= gelt TER R
3) YHE oUF T WHSEF T &1
(4) AH! TR

The Veteran Writer - columnist Khushwant Singh on his 98t birthday presented the first
copy of ‘Khushwantnama : The Lessons of My Life’ to .

(1) Prime Minister Manmohan Singh

(2) Prime Minister Manmohan Singh’s wife Gursharan Kaur
(3) The Veteran Writer - Columnist Tavleen Singh
(4) None of these

3. WTooYs! HERE AT Sival ol ware 90 2013 A Hared Ao Ay siber 3 ?
(1) TeEs
2) UesLd. (wnf g =t Aneasant
(3) ST YAN-TE 9=al F9¥ (NEET) TSGR
(4) =O© THE AR

Which of the following decisions of Maharashtra Government has been declared invalid
by the Supreme Court recently in July 2013 ?

(1) Ban on Guthka

(2) Implementation of LBT

(3) Medical admissions by NEET
(4) None of the above
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4. 9A9HE M. TR 16T ¥ o1 RIS WS VAT 7 SO 19 HIE fAun/ ereiee! ve
31TRa 9 favmi/ arft oL

(a) I, WEEHF w9 I=RH

(b) TrEH e

(c) S fawm

(d) T fagm

HI0d AL AR ?

(1) (0 = (q) (2) () 30O (d) @) @ ®) @A) (@) b FH
Prime Minister Dr. Manmohan Singh is also incharge of the ministries/departments not
specially allocated to any Minister which are :

(a) Ministry of Personnel, Public Grievances and Pensions.

(b) Ministry of Planning

(c) Department of Atomic Energy

{d) Department of Space

Which is correct ?

(1) (e} and (d) (2)  (a) and (d) (3) (@) (b) (c)and (d) (4) Only ()
5. ® e AH 7 2013 W WRAen e {52 d 37T,

(1) = 9 dawem (2) = = T

(3) UMY A9 (4) =W A A

Li Kegiang who visited India in May 2013 is the .

(1} Prime Minister of China (2) President of China

(3)  Prime Minister of Japan (4) President of South Korea

6. TATHAET A IRAE FHeren wiwewE A 3= geidl Qe STHOE qETa 3T hEihgd

AT S goedod o Eiedeed e qo] el

(1) wHe (2) femn

(3) TEEWMEE (4) afed-3-HH

Indian prisoner Sarabjit Singh died in hospital after a brutal assault by other
inmates of a high security jail.

(1) Facruddin (2) Jinnah

(3) Islamabad (4) Vahib - e - alam
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7. HW ST FieA1 BIVRAT HUAA 1200 FIE A TR A Far Ton Roaq wfahy
TR U@ 2013 72 Fan?
(1) s ey
) Ty sEue weT fo.
(3) fowg fas Fwwm fo.
(4 =leud

Which company of Mukesh Ambhani struck a Rs. 1200 cr. deal with Anil Ambani’s Reliance
Communications in April 2013 ?

(1} Reliance Petrolium

(2) Reliance Industries Infrastructure Ltd.
(3) Reliance Jio Infocomm Litd.

(4) All of the above

8. =iV farmdiaren et YU SO S TR S aekied T SU Usdrs
g fomfaa & g ?
(1) g (2) T
(3) AW (@) T
Scientists from which university have developed a new technique that could be applied

worldwide to create an early warning system for massive tsunamis triggered by
earthquakes ?

(1) Mumbai University {2) Yale University
(3) Monash University (4) Stanford University
9. kS e 71 yfaereater. frofass w1 w4 8 =4ier he g fhara fesfaomy
wfel Wearg, B T WIS Hel.
(1) <\ %9 (2) IR (3) sfwEs #R (4) wOoTE! T
Rafael Nadal’s dominant win over made him the first man to win eight French
open titles.
(1) Jim Caple (2) Greg Garber (3) David Ferrer (4} None of these
10. 2013 =41 9w faamdie Soiar gaget ' ifeaT sfeege 3% e =1
TS 3T
(1) 29 Q) 21 () 19 4 41
As per the Global University Rankings 2013 the Indian Institute of Technology Mumbai is
ranked .
(1) 29th (2) 218t 3) 19t (4) 418t
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11. 2013 983 TOSHH, WO . HLH!. dfoma=g gint e ' Meed Je’ sufor ‘A9 e fg gamdz!

B FIH TWAISUH! I T He ?
(1) THN@ "9 ) fe =
@3) g s&=n (4) T vaq

Who amongst the following is a recipient of ‘Golden Bat’ and ‘Man of the Tournament’
awards in the ICC Champions Trophy 2013 held in England ?

(1) M.S. Dhoni (2) Virat Kohli
(3) Ravindra Jadeja (4) Shikhar Dhawan

12, 257 2013 Usi TSR] WA T SO YA YOHER SUaTs qHe gy Neemde
EHI 60T ST B,

(1) = (2) FFR (3) fe=n (4) GoET A

On 25t May 2013, Naxalites attacked a group of Indian National Congress Leaders in the
valley in Sukma district of Chhattisgarh. '

(1) Darbha (2) Buxer (3) Diva (4) Salwa Judum

13, HAER AT I T yee A e e e @ a3 faista 29
(1) == v ufEs gegHHt
(2) W™ dfed gErdH
(3) TUESd e JemH
(@) faera afes yeasst
Congress Veteran Vidya Charan Shukla, who died recently, was the son of the
(1)  First Chief Minister of Madhya Pradesh
(2) First Chief Minister of Uttar Pradesh

(3) First Chief Minister of UttaraKhand
(4) First Chief Minister of Bihar

14, TR Fat IEhRia SR Tetede) 9iEst s uiger w2

(1) et Y (2) ¥ wEa

(3) sreiT fan (4) wFE A

Who among the following is the first female amputee to climb Mount Everest ?
(1} Madhavi Reddy (2) Megha Sawant

(3} Arunima Sinha (4} Manasi Seshu

HEAT TS ST / SPACE FOR ROUGH WORK
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15. . wiieia vt Fi=n s oot FIv faur/ faum stee smea ?
(a) QT WA yaqd wfa.
(b) I v o HRoETIa TEE A9y Haed.
(c) ! gl fodig v == S Hae.
A I
1) (@) % ) (b) %K @) @&fre @ Tew
Which of the following statements regarding Mr. Shashi Kant Sharma is/are correct ?
(a) He was former Defence Secretary
(b) He was sworn in as the Comptroller and Auditor-General.
(¢) He replaced Mr. Vinod Rai

Answer Options :

(1) (a) only (2} (b) only (3) (b) and (c) (4) All the above

16.  TYAFEA AN FiTe WoEtE FOw FREE S w6 ?
(a) T SR SR R aT S s,
(b) O =T TS ASfidles STHTET.
(c) Tt =l SrFAIdS TgAArET [GvaTS T HE YRR S,
(d) GeTa sHT= T SEE fhen Teaasd IEEd IO TR,
REIRIESE
(1) 5 (a) (2)  (a) = (b) (3) (a) T (c) @) (@) () Fo(d)
Which criteria are applied while selecting Prime Minister by the President ?
(a) A leader of the party in majority in Loksabha.
(b) Any one he wishes to.
(c} A person who is in a position to win the confidence of the majority in Loksabha.
(d) The leaders of the party having a majority of seats in either Loksabha or Rajyasabha.

Answer Options :

(1} Only (2) (2)  (a) and (b) (3) (a)and (o) (4) (@) () and (d)

oAl HATEBE JNT / SPACE FOR ROUGH WORK
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17. WO faum o =0
(a) SHEH FEERET g9 T IRa Ueadre oo fade e
(b) WRETeT TLIHS (a9 | HaliH<al=] e TR .
() YRAreN TS SFTIFRER faws1 FvamE THaR TR,
YRAT=AT TEqdi= §eHid st HIvd! faum awaT T 7

Wﬁ'ﬁ 3?13( :
(1) (a) S (b) Fa= (2) (b) I () Fa=B
(3) (a) 3 () Faw (4) =fe w4

Consider the following :

(a) All executive powers of the union are vested in the President of India.

(b) President of India does not need advice of Prime Minister and his cabinet.
(c) President of India has the power to dissolve the House of the people.
Which of the above statements are correct about the President of India ?

Answer Options :

(1} (a)and (b) only (2) (b) and (c) only
(3) (a) and (c) only (4) All the above
18. Geile fqum W

(a) UgUdi=n qEEAqyEE 67 [adas gaed 7SS 9| T
(b) % A T GERRTHIS HUS a0 HgTEE| Yaqamiehed fad SEmm=t THuF $&! .

Tt woE /A faam/a st o/ ?
(1) ™ (a) (2) e (b)
(3)  (a) 30 (b) (4) ISR AR

Consider the following statements :

(a) No Money Bill can be introduced in the Parliament without the recommendation of
the President of India.

(b) The Prime Minister appoints Finance Commission for distribution of taxes between
the Union and the States.

Which of the statement/statements given above is/are correct ?
(1}  Only (a) (2)  Only (b}
(3) (a) and (b) (4) Neither (a) Nor (b)

oA SR WM / SPACE FOR ROUGH WORK

‘“‘mmmmmn

www.adda247.com/mr |  Adda247 'FRTopprp | https://t.me/Adda247Marathi


Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

A 9 MO2

19. WS TS & ¢

(a) Hod HiUEHR G wmVvi
(by T APTEYS T (i) WM
(c) WY 9 @M TH8T (iii) ST LI
(d) iR (iv) iV
TR I

(@ () (o (d)
(1 @ (D) (@) ()
@ @ @ @Gv) ()
(@) (v) @) ) @
(4) (@) Gv) @ (1)
Match the following :

(a) Fundamental Rights (i) PartVI
(b)  Directive Principles of the state policy (i) Part Il
{c) The Union and its territory (iii) Part III
(d) Citizenship {iv) Part IV

Answer Options :

(a) (b) (¢} (d)
1 O @) @) @)
2y @ @ (v) ()
@) (v) @) @) G
(4) i) (v) @ ()

20. WSSIH] BT AT AT = ATy 2
(1) fog s
(2) HEr SREE SEM
(3) TFTE g S AR S S T ST
(4)  AS S
Which of the following Commissions does not have a constitutional status ?
(1} Finance commission.
2)  Union Public Service Commission
3

) National Commission for the Schedule Castes and Schedule Tribes
4}  Planning Commission

(
(
(
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21, Hiaurdie B Siau gEETER TaEd e qaerfis g9 g e ?

1) 71 - giar e 2) 72 - WiayH gEE

(3) 73 - Gfqur g (4) 74 - diayr gEE

According to which constitutional amendment Panchayat Samittee has got Constitutional
Status ?

(1) 71 - Constitutional Amendment (2) 72 - Constitutional Amendment
(3) 73 - Constitutional Amendment (4) 74 - Constitutional Amendment

22. WOSYR] S0 WA A9 S gedt ?

(a) foman oot g (b) o
(c) a1 HYBH (d) SASH TR
g I
(1) (@) 3 (b) F@ @) (@) () =T ()
(3)  (b), (c) 30T (d) (4)  (a), (b) 37T (@)
From amongst the following who were the members of the Constituent Assembly ?
(a) Vijaya Laksmi Pandit (b) Subbalakshmi
(c) Sucheta Kruplani {(d) Sarojini Naidu
Answer Options :
{1} (a) and (b) only (2) {a), (c) and (d)
(3) (b}, (c) and (d) (4) (a) (b) and (d)
23. 17 97 1948 @1 SIfod H{v4Td ST ' MHER Wale ! SAErm’ Seas HI9 8 2
(1) “THF. TR (2) TH*. RS
) fewore faam (4) HTHEERS WD
Who was the President of the ‘Linguistic Provinces Commission” promulgated on June 17,
1948 ? '
(1) Justice S.K.Dar (2) S.K.Patil
(3)  Brijlal Biyani (4) Kakasaheb Gadgil

24, WET TEEITH! HIVH GRS TR gy aen Iiirems e qe 2
(1)
(2) =w=H T
(3) TsEEYdE arEt e
(4) ¥, T, wHEd gt
Which one of the following provisions does the seventh schedule of the Constitution of
India contain ?
(1) Languages
(2) The states

(3) Allocation of seats in the council of states
(4) Union, State, Concurrent lists

Hol! HINME WM / SPACE FOR ROUGH WORK
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25. G Sfaurren Foed FoAHER e fodmed fRd siftsra saasr W 3R ?

(1) FoH-340
(3) FoE-350

(2) Fou-343
4) FOH-352

According to which article of Indian Constitution Hindi in Devanagari Script is the official

language ?
(1} Article - 340
(3) Article - 350

(2) Article-343
(4) Article - 352

26. S BIEA A T4 fas

(a) AR
(b) e
(c) =RA
(d) Tt
TRt I

(@ @) {9
1 @ @) ()
2y G @ @v)
(3) () (@) @)
(4} (iv) (i) (i)

@ ®I

(i) He AT
(iii) FoE

(iv) Toeem glesA

(@)
(iv)
(iii)
(iv)
b

Choose the appropriate option by matching the pairs.

{a) Kanpur

(b) Thansi

(¢} Banaras

(d) Delhi

Answer Options :
(@ (&) (9

(1 ) @) @)

(2) @) @ ()

() (@) @ (@)

(4y (v) (i) (i)

(i) Hugh Rose
(ii} Colonel Neill

(i) Campbell
(iv) William Hodson
(d)
(1v)
(iii)
(iv)
(i)

27. WG S FiA qu A fewlt S Tt arntae e W w9 7

(1) it foaredt
(2) WENTEH 99
(3) WoERYE W
(4) TEHEH 9T

Which social institution was established by Saraswati bai Joshi at pune ?

(1)  Stri - Vicharvati
) Sarvajanik Sabha
(3) Satyashodhak Sabha
) Paramhansa Sabha

(2

(4

wHoedl HIATHIS ST / SPACE FOR ROUGH WORK
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28. & SFEITAWE A1 FEE WO R .
(a) TS Swian WARRANT FHET T T @S oL
(b) TS Sreian THFRYRT FHRY +HET R T,
(c) IS e FHE ¢ Sifan,
(d) EASTIR ARTR Srewid! TR SHERTAT i,
T S
1) @@ @ At @) @I @ () )
The objectives of the establishment of the ‘Bombay Association were :
(a) To see that there was participation of Hindi speaking people in the administration.
(b}  To see that there was no participation of Hindi speaking people in the administration.
(c) To decide whether to use Satyagraha against the British.
(d) To take the complaints of the people to the government through legal procedure.

Answer Options :
(1) (a) and (d) (2) (b)and (c) (3)  (©) and (d) (4)  (a) and (b)

29, 'HYF HERIS W1’ < WY i A 7

(@) HTAT (b) T

(c) HUearsl (d) demE

TG I

(1) (a) (2)  (b)®H (3)  (b) &1 () (4)  (d) ®
Where was ‘Sanyukta Maharashtra Sabha” established ?

(a) Mumbai and Pune (by Mumbai

() Marathawada (d) Belgaon

Answer Options :

(1) (a) only (2) () only ) ®and(@©  (4) (d)only

30. fafew wxfarg god sevar= SXon HidTRREAT S0l ARFHHS fHeered 7

(a) foaway (b TR

(¢) g (d) FETR FIEAE qHO!

Taft I :

(1) (a) & (@) (a) S (b) (3) (o) = (d) @) (o)

From which play did the revolutionaries get the inspiration to fight against the British
rule ?

(a) ‘Kichakvadha’ (b) ‘Subhadraharan’

(c) ’Saubhadra’ (d) ‘Katyar Kaljat Ghusli

Answer Options :

(1) (a) only 2 @and® () (@and(d) (4 (b)only

HTT HIRTEE! W / SPACE FOR ROUGH WORK
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31. ‘g 3fiow e, O A YT S5 v B 2

(a) OFAH oz (b)  TIYTEE TTOIY SR

(c) Tampemeh faumE (d) TR TG qEgH
Tt I

(1) (a) o (2) (a) 30U (b) T

(3) (), (b) 3 (c) He 4) e wd

Who were the founder members of ‘New English School, Pune’ ?

(a) Lokmanya Tilak (b) Gopal Ganesh Agarkar
(c) Vishnushastri Chiplunkar {d) Dadoba Pandurang Tarkhadkar
Answer options :

(1) (a) only (2} (a) and (b) only

(3) (a), (b) and (c) only (4) All the above

32. ¥Ry =l e
1) IR fow - o gt
(2) TOEERTY T - BiE SeaN!
(3) S Wl - BE H
(4)  FHHGE YA - BE foed
Choose the inappropriate pair.
(1) Dbert Bill - Lord Ripan
(2) Doctrine of Lapse - Lord Dalhousie

(3) Partition of Bengal - Lord Curzon
(4) Foundation of Congress - Lord Lyttan

33. OFU fco®ivl Haiua Gioie SHl HorHmd @ #U 9 4 911 e

(a) WSS WEH (b) O IHS
(c) THED IM (d) framt 3
REIDIES T

(1) (@) (o). (b), (d) (2) (@) (b), () (d)

(3) () (d) @) () @) () © ®) ()

Choose the appropriate option by arranging in chronological order the following events
related to Lokmanya Tilak.

(a) No - tax campaign (b} Ganesh Festival
(¢} Home - Rule League (d} Shivaji Festival
Answer Options :

(1) (@), @) (b) (d) 2 (@ ®) © @
(3 (b) (d) @) () 4 (d), () b) @

AT HIUMEES A / SPACE FOR ROUGH WORK
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34, 1857 1 IBMEM WS Heo= 99 HI97 g ?
(a) WG ARE (b)) W AEE (c) i AT (dy <reatEm

At 3Ot
(1} (a) & (2)  (a) S (b) F
(3)  (a), (b) 3T (c) W (4) oG 9d wIg 9 SR

Who were the leaders of Bhilla tribe in Khandesh during the Revolt of 1857 ?

(a) Kajisingh Naik (b) Bhima Naik (c) Bhagoji Naik  (d) Daulatsingh
Answer Options :

(1) (a) only (2) (a) and (b) only

(3) (a), (b) and (c) only (4) All the above options are correct

35. WHig nfcart fycolan S8 did ey Bt ?

(@) WFRYE (b) T TSR (c) TR (d) e
it IW

1) @aE @ @I @) (R (4) () W
The revolt of the aboriginal Bhills was very severe at __

(a) In Khandesh  (b) Nagar District (¢) Kolhapur (d) Solapur
Answer options :

1) @and®) (@ @andd () (d)only (4) (@) only

36. WA WEEWT YMHIV YITHIS Yorm FATUAvH g Fm ' o TeAsIg HIvn qufas g ?
(1) T 156 (2) I M
(3) TTOUWE ToE (4) WU W
Who was the President of ‘Faizpur Congress’, the first session of Indian National Congress
in rural area ?
(1) Jawaharlal Nehru (2) Mahatma Gandhi
(3) Vallabhbhai Patel (4y M.N.Roy

37, 9Nd SIS AESD T RIS ' Uid SR’ TAGT 0 IS B 7
(1) e (39.) (2) gL (ame)
(3) HME (FERE) 4) =% wd @ A

Where was the ‘Parallel Government’ (Prati Sarkar} established during the Quit India
Movement in the country ?

(1) Ballia (U.P.) (2) Midnapur {Bengal)

(3) Satara (Maharashtra) (4) All the above options are correct
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38. @ FIT oM & AN @ Iy B,
(1) wrafire faggomed (2) vmeafirs faaoreh
(3) = Trayomren (@) TR
‘Raleigh Commission’, of Lord Curzon’s time was associated with
(1) Primary Education (2) Secondary Education
(3) Higher Education (4) Famine

39, ‘o yfaeE EIfmIE’ 9 Stuges 9= S B 7

(a) .. IS (b) Tordrerami Az
(c) e qgessh (d) =M. T
IR I

O @6 @ Mod 6 @M @ ©d e
Who were the founder members of ‘Bombay Presidency Association’ ?

(a) KT Telang (b) Pherozeshah Mehta

(c) Badruddin Tayabji (d) M.G.Ranade

Answer Options :

1) (a), b} (d) 2)  ®) (o) (@) 3) @ b)(© 4) © (@ @
40. ¥ 1839 Al U I HI0 ISTH HH ?

(a) Al (b) Trcort (c) awel (d) wFuFE=Al
gt IW
(1) (2) B (2)  (b) 3T (<) (3) (@) 3 (b) 4 ()5
Who revolted at Pune in 1839 ?
(a) The Kolis (by The Bhills () The Varlis (d) The Kathkaris
Answer Options :
(1) (a) only (2) (b}and (¢) (3) () and (b) (4)  (d) only
41. TUEUH YN 9 HETET TTER TS HBUE 39 TUERGSH ®H UEAHeS H
.
(a) Tagfr= (k) e (c) Sfumge (d) Formie
g IW
(1) @) () (d) (b) 2) () () @) (9
3) © (@ @) ®) @) (9 (®) @), (@)
Arrange the coal types in decreasing order on the basis of quality and Carbon Proportion.
(a) Bituminus (b) Peat (¢) Anthracite (d) Lignite
Answer options :
(1) (@), (©) (d). (b) (2)  (b), (d), (@) (c)
(3) © @) @) b 4 (© (@) (@) @

FHoAl HIUTEIG! T / SPACE FOR ROUGH WORK
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42. Ut oEl
WY WY
(TdEOT W ) (faee)
(ay TEMg M
(b) ToEmgy (iiy @AW
(c) wiewd (iii) TR
(d) wEftwen (iv) a1
mﬁ?ﬁ'ﬁﬁ:

(@) (b} () (d)
) @) () Gv) ()
@ O G @ @
(@) i) @ @) )
@) (i) @) Gv) (0
Match the following :

Column 1 Column I
{Tourist Places) (District)
{a) Rajapur (iy Pune
(b}  Shivapur ({) Satara
(c) Mandhardev (iii} Ratnagiri
(d) Hajimalang (iv) Thane

Answer options :

(@ () (o (d)
M G 0 () (@)
@ ) @) G (v)
@) @) () () (v)
4 @) @) vy ()

43. R YoammE e . o :
(1) 743 (2) 843 (3) 972 (4) 720
The Konkan Railway line is kms long.
(1) 743 (2) 843 3y 972 4y 720

44, THFF iEE T WrATTH Sefagd S HoE HH ST Al ?
(1) R, H0Y, TUFTY, R
(2)  THFI, HIE], HULL, HIEH
(3)  WIFAI, FUL, R, T
(4)  WITER, FUL, FIEA], THETH
Which of the following sequences of hydle power stations from North to South is
correct ?
(1) Bhatghar, Kanher, Radhanagari, Koyna
{2) Radhanagari, Koyna, Kanher, Bhatghar
{3) Koyna, Kanher, Bhatghar, Radhanagari
(4) Bhatghar, Kanher, Koyna, Radhanagari

o HIEEE S / SPACE FOR ROUGH WORK
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45. WIOEIE S degae fowml Yoo e 3 ?
(1) FEESTER (2) WA (3) Wil @)
Which of the following hillstations can you reach by railway ?
(1) Mahabaleshwar (2) Matheran (3) Panchgani (4) Amboli

36. < Fedvan PR Fvren enfearel ST et o7

(1) W (2) s (3) e

(4) A
Which tribal couple is shown in the given picture :

{1} Santal (2y Gond (3) Toda (4) Naga

AT RIS W / SPACE FOR ROUGH WORK
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47. WS TEEE A qafaoen R et REl IRE HEIEe 9 31 2

(1) o' afw ) gAEEt (3) WS (4) wiwEES

Dotted area in the following map shows concentration of which of the following
minerals ?

(1) Iron - ore (2) Limestone (3) Manganese (4) Bauxite

FHeAT HPTAE F0TM / SPACE FOR ROUGH WORK

www.adda247.com/mr |  Adda247 'FRTopprp | https://t.me/Adda247Marathi


Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

A 19 MO2

48, IS TAUIHS @ URIdE WIS Ul Sl vdg frewer 9 awie] o ?
(1) STEYEl, Urodhiel, Aeomie, Had
(2) UrEie, FRHEY, FEfT, Teomm
(3) {mi, Teomme, Tewie, F=Rge
(4) oo, Faf, s, Towe

From north to south, which of the following sequences of mountain peaks in the Eastern
Ghats is correct ?

(1) Anaimudai, Palkonda, Nallamala, Nimgiri
(2) Palkonda, Anaimudai, Nimgiri, Nallamala
(3) Nimgiri, Nallamala, Palkonda, Anaimudai
(4) Nallamala, Nimgiri, Anaimudai, Palkonda

49. TIOIHE! B Tes HRR TSeRnd A ?

(1) e (2) e (3) se=d (4) wErems
Which of the following lakes is not in Chandrapur district ?
(1} Tadoba (2) Navegav (3) Ghodzari (4) Asolamendha

50. SV HRNEIS WSS HIo 1T o7 SHpis W o o ?
(1) = (2) TEEwIS 3y "W (4) HiTe

Which of the following is the main centre of looms and power looms in Southern
Maharashtra ?

(1} Barshi (2) Ichalkaranji (3) Miraj (4) Sangli

51, Bvol Weets! Rivd siiftas g §e Fuah e 3R ?
(1) e (2) URE (3) e (4) =

Which of the following thermal power stations is closed recently ?

(1) Koradi (2) Paras (3) Chola (4) Dahanu

HoIT RN WA / SPACE FOR ROUGH WORK
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52, Sl @& ;
(a) <= () o eEdS 9T
(b) WEHE (i) EEd TEAS

(¢) defEa (i) AEEREE! 92
(d) dferes (iv) Ed SE WE

@ B © @
W 6 @ @ @
@ G @) 6 G
@) ) @ @ @
@ ) G 6O )
Match the following :
() Diu (i)  Spit Island
(b) Salsette () Naval Station
{c) Sriharikota (iii) Fishing Island
(dy Wellington {iv) Group of Seven Islands
Answer options :
@ O © @
M 6 @) G 6@
@ @) @) 6 G
@) v i) @ ()
@ @) @ 6w

HEAT FTHTATST W / SPACE FOR ROUGH WORK
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53. WHo TR qiyeq fenoardie IR 96 T 1, 2, 3, 4 SihH! Srafasedn siRd. 91 9dd gmer
TR ITHE HIEN FH T TR ?

(1) 9EH, vem, Ruide, HHH
(2) foRaisTes, e, PG, FRHRH
(3) IUHRH, T, FrEH, fiens
(4) TG, TR, TRy, FHrA

Four mountain ranges are shown by 1, 2, 3, 4 numbers from Western Himalaya in the
given map. Which is the correct sequence of mountain ranges from South to North ?

(1) Zaskar, Ladakh, Pir Panjal, Karakoram
(2)  Pir Panjal, Zaskar, Ladakh, Karakoram
(3} Karakoram, Ladakh, Zaskar, Pir Panjal

(4) Ladakh, Zaskar, Pir Panjal, Karakoram

HEAT HIHETS W / SPACE FOR ROUGH WORK
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54. Sited o
WY 1 @w Il
e Tarega weneq B
(a) @™ @ TS
by Fu () 9o
(c) W (iti) A
e {d) wEAT (iv) B
T I

@@ () (o (d)
) @O @ (v) @)
2y @) @ @ w
G @ @) @ )
4) @) @ @) @
Match the following :

Column I Column I1
. -(Hydel Power Station) (District)
() Dhom (i) Raigad
(b} Bhira (i) Pune
(c) DBhatsa (i} Satara
(d) Pawana (iv) Thane

Answer options :

@ ® © (@
1 @ ) Gv) ()
() @) @) @ (@)
Gy @O @@ @ (@)
(4) (D) @ (v) (i)

[y

55. URAKS SISO v DU Geid yr=E o 3Ty ?

(1) 9% (2) - W 3) TwasEm (4) =gl
Which of the following caves in India is the oldest cave ?
(1) Verul (2) Karla - Bhaje  (3) Pitalkhora (4}  Gharapuri

HoAT HITATE JRT / SPACE FOR ROUGH WORK
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56. 2012 - 2013 Hed YAt fomt Quroame figed o
(a) TATIAR. 9 TH, U@ AR FHH &0
(b) +LIRIR. FH FA I01 T, TR, IO TR,
(c) THUG AN HH Her G0 H, AR AR, I<o0 6.

gt ST
(1) (a) I TR TR, (2) (a) 3O (b) IS 3T
(3)  (a) 3T (c) TS L. (4) FlorH THe TR

In order to improve liquidity in 2012 - 2013, the RBI :

(a) Reduced CRR and SLR.

(b) Reduced CRR but kept SLR unchanged.

(c) Reduced SLR but kept CRR unchanged.

Answer options :

(1) (a)only is true (2) (a) and (b) are correct
(3) {(a) and {(c) are correct (4) None of the above

57. CAPART Wooia! IRl Heilod 7% 7
(1) T FEAEHR] S AEa d e JoIHIG Hl.
(2) T FEAR
(3) Tt afgaet woe dar [,
(4) WIS IR YEHU FEA I
What is CAPART related to ?
(1) Assisting and evaluating rural welfare programmes
(2) Computer Hardware

(3) Consultant Service of export promotion
(4) Controlling pollution in big industries

58. WRAWI® TH1 [AGAE M, 9 M, ¥ TER GIO@US! S0l 6 SeEe | /
(1) w9 T g
(2) Sfarra 9 S T
(3) Hfaa = fommita 3
4y Fer g sgow Y (fem)
M,, M, categories of money supply in India are also known as :
{1) Public Money and Private Money
(2) Internal Money and External Money

)
(3) Narrow Money and Broad Money
{(4) Static Money and Dynamic Money

WHoAT HIATETST Wt / SPACE FOR ROUGH WORK
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59. 2011 S AU YHI YA TRV DRG] WeeE! R o g ?
(1) 116.01 & (2) 121.00 Fret (3) 123.67 & (4) 126.31 &I

What is India’s total Population according to the 2011 census ?
(1) 116.01 crores (2} 121.00 crores (3) 123.67 crores (4) 126.31 crores

60. AN Sl f9HET= AT [RISTS! HIVE! oe HEE] 378 7
(a) SCNEHA AEATIEST HE1G Ti=1 SR HT0L
(b) ‘TR =R’ T foae fEE " gadhan S .
(c) ORI ST e,
(d) U TS SIEE FHT .

FUGUFT R0 faum FTeN 374 ?
(1) (@3 (b))% (2) (b} and (d) ®=
(3) (@) (b) & {c) (4) () F(d) Tt

What are the important aspects of the ‘New Agricultural development’ strategy ?
{a} Use of organic fertilisers to increase productivity.

(b) Use of sprinkler and drip irrigation method.

(c) Implementation of Animal Insurance scheme.

(d) To reduce poverty in rural areas.

Which of the statements given above are correct ?

(1) (a)and (b) only (2) (b) and {d) only

(3) (a), (b) and (c) only 4) (c)and (d) only

61. T fawm fvm (HDI) qovd 7 oe& JErads! v ?
(1) <= S5 TR AHIA e WaRaT S8 Roiaeu 599 g (GER) S0 SREE e
T IAET-GDP
(2) W, faar s yEEeEe gb
3) < Voo dwde, TR Wale SFEen ot famdme &
(4) EUHL AT, Yie WA < St U 3o
What are the three basic dimentions of HDI (Human Development Index) ?

(1)  Life expectancy at birth, Adult Literacy Rate, GER in Education and GDP per capita
(2} Expenditure on Health, Education and Environment

(3) BPL population, APL population and Housing facility
(4) Average life, Adult Literacy rate and National [ncome

HeAT THIATATS! SR / SPACE FOR ROUGH WORK
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62. eu el :

(a) TH e () 1969

(b) e MR yfdsy FEQ () 1956

(¢} YtmE=eA fEA wre (i) 1991

(d) T3 rEnfre HRo (iv) 1973

@ b © @
M O @ @) @
@ v @) @ @
@ @ 6 @) (@)
@ @ 6 @

Match the pairs : $
(a) 2" Industrial Policy Resolution (i) 1969
(b) MRTP Act (i) 1956
(c) FERA Act (i) 1991
(d) New Industrial Policy @v) 1973

Answer options :

@ ® (© (@
) @) @) (@) (v)
@ ) @ 6@ 0
) @) @ v (i)
)

@ @ @) G

63. TIESTH A IR 2010 - 11 7ed el e R faavE e ?

(1) = s (2) TEEA =M

(3) e e (4) e 3

In which industry maximum FDI investments were there during 2010 - 11 ?
(1) Foodgrain Industry (2) Chemical Industry

(3) Petroleum Industry (4) Machinery and Equipment Industry

HoAT FIWWE A / SPACE FOR ROUGH WORK
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64, EM fafaa droma yEiodar S FeieaR S g[ STl T8 7
(a) HWE o Fo HEAAN YSHHRI FH1,
(b) HT YIIEAE YU FL.
(c) H A AR famw 3 wonS wae aed
(d) = el SO T9m gl uga sadEm,

FSYH w0 [FUM SUET 3T ? |
(1) (@) & (c) B (2) (b)d(d) B
(3)  (c) 9 (d) wH (4) oo &

In the New fiscal policy emphasis has been given on which of the following aspects ?
(@) To simplify tax structure and tax Laws.

(b) To improve tax administration.

(c) Equal weightage given to resource allocation and taxation.

(d) Fresh initiative to strengthern method of expenditure control.

Which of the statements given above are correct ?

(1} (a) and (c) only (2) (b)and (d) only

(3) {c) and (d¥only (4) Al the above

65. ST 3el-AXMSH ¥ (GAAR) =41 GTd aRgel WA hegl IR @P] 81T ?

(1) Tus 1, 2016 (2) wY@ 1, 2015

(3) SHaTd 1, 2015 @) e 1, 2017

The modified provisions of General Anti - Avoidance Rules (GAAR) will be implemented
from :

(1) April 1, 2016 (2) April 1, 2015

(3) January 1, 2015 (4) April 1, 2017

66. 1950 - 51 @ 2010 - 11 1 FIoEHta Wi =1 o TLHE IAEARS (GDP) = q@ieds!
I YA S ?

(1) 55.4% @ 14.3% (2) 55.0% d 16.0%
(3) 56.0% @ 15.0% (4) 55.4% d17.0%
Share of the primary sector in GDP has gone down during 1950 - 51 to 2010 - 11 from :
(1) 55.4% to 14.3% (2) 55.0% to 16.0%
(3) 56.0% to 15.0% (4) 554% to 17.0%

67. 2009 IR fgsd 997 IoAm AW 10 % UG a9 § SAT fahdl 378 ?

(1) 73" 24 Frdifen (2) 8 m 28 fadifix

(3) 9 " 26 fudifrer (4) I G

What is the weight and radius of the 10 rupee coin introduced by R.B.I. in 2009 ?
(1) 7 gm 24 mm (2) 8 gm 28 mm

(3) 9gm 26 mm (4) None of these

TR BT WA / SPACE FOR ROUGH WORK
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68. AT ST FrEER T IFvATE FIH HEASHSSAN HIVT FiHATS HIS T ?
(a) wiFeE Aftd
(b) A< i
(c) HrES I afHat
(d) oiw ud
FHSUFT FIU FATE FUET 377 7
1) (o) ®d (2)  (a) =0T (b) e
(3) (b S (c) e (4) (d) ®x
Which of the Parliamentary committees controls the financial affairs of the country ?
(a) TPublic Accounts Committee.
{b) Budgetary Committee.
{c) Public Enterprise Committee.
(d) Al the above
Which of the options given above are correct ?
(1) (a) only {2) (a) and (b) only
(3) (b)and (c) only (4 (d)only

69. TR R FE TH o2
(1) ufedt et Frar= (1951 — 56)
(2) foudt geEerte e = (1966 — 71)
(3) TEEl gHEE e = (1980 — 85)
(4) el TEETyE A= (2002 — 2007)
Which of the following pairs is not correctly matched ?
(1) I five year plan =(1951-56)
(2) I five year plan =(1966—71)
(3) VI five year plan =(1980—85)
(4) X five year plan = (2002 —2007)

FHeeIT HITTEG W / SPACE FOR ROUGH WORK
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70. 2004 - 05 T INEEST IgoH HiTdr=A RIeReiyEm Eeetst v T ffEa s

A ?

oy T

(1) 470.80 %. TLER Hiewal 680.70 ¥. TLERE lame

(2) 446.68 . & gfaHzT 578.80 F. TTEIE gfawa

(3)  580.00 T. TEE TfaAar 748.75 %. QLR il

(4) 1120.00 5. TEE gfama 1380.00 . TXEiE Wfawar

Which of the following is the Poverty Line determined by the Tendulkar Committee for

the year 2004 - 05 ?

Rural ' Urban

(1) T 470.80 per capita per month ¥ 680.70 per capita per month

(2) T 446.68 per capita per month ¥ 578.80 per capita per month

{3) ¥ 580.00 per capita per month ¥ 748.75 per capita per month

(4) ¥ 1120.00 per capita per month ¥ 1380.00 per capita per month
71. Wifewtst Hom 950 il e T@ 2

(1) =9 S o8 Qe g Y. (2)  SEwuE agEdd ardvad gl

(3) TEEIM ZARUE EHIHL0T B, (4) TSI STEwEOT e,

Which among the following is not a physical change ?

(1) Melting of solids to liquids (2)  Vaporization of liquids to gases

(3) Liquefication of gases to liquids (4) Degradation of matter
72. WAl YRGS Gaia oid 99 Howd ?

(1) s (2) T (3) WEW (4) =AY

Which is the longest cell of the human body ?

(1) Ovum (2) Fatcell (3) Sperm (4) Nerve cell
73. o YeEEl w9 A1 RO Hise .

(1) e (2) T G) feorE (4 FoT

The energy content of food is generally measured in .

(1) Ergs (2) Coulombs (3) Kilojoules (4) Calories
74, VNS WA Bromd 3ot FAfHe arges B

(1) ST sffwar (2) FzFHE faEe

(3) TEEf® giwd (4) faeams gfean

Energy produced in a nuclear reactor is due to :

(1) Neutralisation reaction (2)  Nuclear fission

(3) Chermnical reaction (4) Displacement reaction

el HIATATS AT / SPACE FOR ROUGH WORK
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%’l’q@qﬁ'{‘é‘?mﬁ:
(1) FEE T foea s5a ®aa 2.

(2) Torga 3= WA FES .

(3) T AT FUAL FEA faEd 391 TIR HS .

(4) WAFEE T TG faEd 360 S T

At Hydropower Plants :

(1} Kinetic Energy possessed by stored water is converted into Flectrical Energy
(2) Electricity is extracted from water

(3) Water is converted into steam to turn turbines to produce electricity

{4} Potential energy possessed by stored water is converted into electricity

76.

ST SleodTaT Il MHT 31 Forar feRvonn Frifea = ?

(1) wrfen 2 = (3) =i (4 ¥
Which part of the human eye controls the amount of light entering the eye ?
(1) Cornea (2) Iris (3) Pupil (4) Retina

77.

32 qUamEd IS FHAT B, T SR WereA T SF% X M ANgEd B, € Wiotead!
FoeT TUTHHYS B ?
(1) SUE (2) g (3) STadTi® (4) warfem

When an egg is placed in water it swells, but when it is placed in a salt solution it shrinks.
It is due to which of the following properties ?

(1) Osmosis (2) Surface tension (3) Refractive index (4} Viscosity
78. WIS UO HAIR T FAHA ?

1) FEHL Q) FTHIX

(3) HHEERR (4) YRFTFI

What are the solar cells made of ?

(1) Conductors (2) Insulators

(3) Semiconductors {4) Superconductors
79. TNge B WV HIveT W At ?

(1) R (2) fedem (3) sifreeT (4) T

To what Phylum does Earthwarm belong ?

(1) Porifiera (2) Coelenterata  (3) Annelida (4) Mollusca

oAl FHIATATS IR / SPACE FOR ROUGH WORK
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80. Tut@ 19 @ 30w W MR FwRW
(a) T HORHE =eg FH A
(b) T e e,
(c) A vl font 9 9 wd L
ThE®! FIR faum/ faam sRier sTed ?

1) (@) %= (2 (b) 3 (o) FH
(3)  (a) SO (b) T @) (), (b) 30T (c)

Natural gas is a good fuel because :

(a) It has low calorific value.

(b) Tt burns smokeless.

(¢) It doesn’t produce poisonous gases.
Which of the above statements is/are correct ?

(1) (a) only (2) (b) and (c) only
(3) (a) and (b) only (4) {a), (b) and (c)

81. RFg e ¥ Halbd .
(@) O T TET
(b) TSR A SH,
(c) =\ aTREa
(d) A YgE
() YHIAE FIF
() wafos omimg St A
(g) OIHI THFH
(h) Fed A Ieishar wul,
qqit 3 ¢
1 @ © () (d) (e (3)
Health education does not consider .
(a)  Alcoholism in people
(b} Open air latrine
{c) Addictions and poverty
(d) Water pollution
{e) Smoking Addiction
(f)  Provision of primary health services
(g) Vaccination of the people

(h) To carry out family planning surgeries
Answer options :

1) @) (2) (@) (@) (3)

(b), (f) 4 (@ N

(b), (f) 4 (@ M

FoeT HIFEISI W1 / SPACE FOR ROUGH WORK

et S S

SRR B o R Y e o s

RiGRaE T EEE  CR

www.adda247.com/mr |  Adda247 'FRTopprp |

https://t me/Adda247Marathi


Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

A 31 MO2

82, fasis ST @ WHIHERIT WS STT TG SHAN ¥ AR T FUMET TR

HIATT ?
1) feie s a duen @ feie s 9 Tden
(3) feifes 3 »few 4) fwie 3 wrieferis

What is Bakelite Polymer used in making of handles of electrical devices and cooking
utensils made of ?

(1)  Vinyl chloride and ethylene (2)  Vinyl chloride and propylene
(3) Neoprene and styrene {(4) Phenol and formaldehyde

83. ‘gAY’ FEd, ¥ eI o anusd IR ?

(1) =aNfed aTet (2) TRSET STE
(3) HICHIEH TAC (4) TREH TR
Plant ‘Drosera’ belongs to which class of the plants ?
(1) Autotrophic plants (2) Parasitic plants
(3) Insectivorous plants (4) None of the above
84. MY STadERME Yogsarl WE & wi= TR FLM.
1) A (2) I EEn  (3) HHE @) gwuﬁ

In the modern periodic table elements are arranged according to their

(1) Mass number (2) Neutron number(3}) Atomic number (4) Properties

85. ToEI® fedln TEHe QHRUE: FIVET HIGIRE SHa00 ST ?
(1) A (2) = (3) TEshId (4) O™
What are the elements of electrical heating devices usually made of ?

(1) Tungsten (2) Bronze {3) Nichrome {(4) Orgon
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86. YEI® 3MFdl JHURd §F© qr@ad. A 9B & o qURd=l FoY R AR o TSN T aweniAt
RS AR, IV foge Sl Tusl 7 il A 9 B ST0AT SR ST fowd! 70 9o 1R ?
NS
A B
1 11 2) 9 3) 7 (4) 5
Following diagram shows a housing complex. A and B are the two entries and are
connected by roads shown by arrows. Without touching any point twice how many
routes are possible from A to B ?
PR
A -— B
(1) 11 2y 9 3 7 (4) 5
87. 2;— =24.25 x 4*
(1) 0.75 (2) 0.70 3y 0.50 4y 0.25
? =24.25 x 47
(1y 0.75 {2y 0.70 3y 0.50 (4) 0.25
oAl wMMEIE 9T / SPACE FOR ROUGH WORK
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88. TFATE! UF MHS! TS A I WA M YA, T AT AN TS TS =W 54 96 F fRdt i
e ?

(1) 84 2) 102 3) 63 4) 81

One stack of fodder is sufficient for nine calves and seven cows. At this rate nine stacks
will be sufficient for fifty four calves and how many cows ?

(1) 84 @ 102 (3) 63 4) 81

89. Yeio o{< qa ¥ SISt W A wordast 3haa Tt frast

Y[ x[w[z]=]51
w|x|wl[z]|=]57
W[ X[Y[W] =159
Y|Y[Y|Z]=]47
56 | 53 | 56 | 49
1) 9 ) 11 (3) 14 4) 17

Choose appropriate option to replace variable W to make following addition table true :

Y[ X[wW][zZ]=]51
wlXx|[wlz 57
Wl X[Y|[w]|=]5
Yly|lY|z[=14
56 | 53 | 56 | 49
(1) 9 @) 11 3¢) 14 @) 17
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90. T feoear TiERE Yfgd (A) 9 ®@= SR (R) 9= Hewia a4 fras &4

FaaER (A): TR Tofad THO Wl 6 9 15 Tredie 99 faarea Jiwd et
Toraqor {3 S o790 AT FouHE Wow ATl S A1 Weid e FIUHE! eg® STHa.

I (R) : < {3 SR WM AR ATH | TR Sore AT sqaeeTaAT
WIST M Y& HLOGE1 WM 28 o SgaEd TSl ared i @erh el 9 firsor <am 9
WA 3 Sl {1 @I edd SRS T,

(1) (A) T (R) I AT FeF A A (R) T (A) F A HROT e

(2) (A) T (R) I T T IR WY (R) B (A) A RO AR

(3) (A) TS AR U (R) FEA AL,

(4) (A) 3TEF AR 90 (R) T .

Choose appropriate option with respect to assertion (A} and reason (R) that follow :

Assertion (A) : Though schools run by the government provide free primary education
to all learners between age group 6 to 15, few parents are willing to enrol their children in
these schools.

Reason (R) :  Government gives permission to run a private school to influential
managements, in the same area where government schools are located and majority of
the parents think that private schools provide good education and therefore enrol their
children in private schools.

(1) Both (A) and (R) are individually true and {R) is the correct reason of (A)
(2) Both (A} and (R} are individually true and (R} is not the correct reason of (A}
(3) {A) is true but (R} is false

(4) (A} is false but (R) is true
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91, hivid/d AEATH/ O gissem feoen Mgl ahgear e AR ?

¥ WA 31 Wadw FEE o Fan faoe Sed. oM WY OF &t dfve ee
HIEAH! A M Hed TR, T hoed! I FYAHi=A TaH T G veo w diifes
R TR SRS fUediel f S Sie TR el uied HEdl.  WeRrgreAl fRAnd
TR TRUIFAT Dihi=al HRAH @i a1 Tl AW %@l 9 @i e REo Heamg fafay
TS FEET FHIOATE TS TS AT Hed il @ qernme fafay e merdte
T ST YE FOL A A U iR varaet fafay fam o o e 92 39 o
R4

(a) O HaH F Hery foe RO @i wiE i v faw wu fowfag wvaE ™

B,
(b) TR A HTEE wag fefavaE W g
(c) 3TN SUHHE Bkl TEHF HS: Tl T 4 HR 37§ Fa o W SN e B

@A,

(d) HIFH 9IEE B Ht SIS BB i TGRS @it Wied e enfor mu @
Fifew e Fraar FHee Jae.

oIl 3

1) () (2) (@ (d) G @3 (4) T (d)

Which of the generalization/s is/are logically consistent with the information given in
the paragraph ?
Two conservationists are engaged in studying nature as it is their hobby. They found that
the population of olive ridley turtles is diminishing fast. During various studies they
conducted they realized that generations of communities living in the area are well versed
with the living forms that populate that geographical region. They studied the reasons of
this problem with the help of people living in coastal region of Maharashtra and helped
them understand need for conserving various species along with olive ridley turtles. With
this initiative village people started taking care of nests of turtles on different beaches.
People started celebrating hatching process and hatchlings walking towards sea. Now
people from different places started visiting these villages for witnessing the event.
(a) People started assisting the conservation action as they were interested in developing
their villages as tourist spot.
(b) Conservationists were interested in gaining fame for this work.

(c) People should not be allowed to participate in such programmes as they eat eggs
and turtles as a source of protein.

(d) Conservationists knew that people in the areas know their environment well and
therefore they could take care of olive ridley turtles.
Answer options :

1) @ {2)  (c) and (d) 3) .(a) and (c) (4)  only (d)
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93. YEIT GHIHI 9 SLUAHET YRAfa-ar=al Srh 3faw wafa faen.

1764
2+ (350 % 0.84) = (620 X 0.55) — | —
234 120 x 65%)
(1) 13.5x2 @ -5 +1 (3) (—3—— 4) 33+1
Select appropriate option to replace question mark to make equation true
1764
7+ (350 x0.84) = (620 x 0.55) — 5
234 120 x 65%)
(1) 135x2 @ 5 1 (3) (——-—3—-—— 4) 33+1
AT HIHTETS! SR / SPACE FOR ROUGH WORK
m i I oy ooy e +1 s e n
R AN i ST RS 55v 7
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94. 3faa v fraga <t et qof #

s6lk R loalé
2.8 88

Complete fourth pair by selecting appropriate alternative :

aAslA Aleald

Answer options :

/\
M <> @) % © ﬁ @ 6

95. TR HId dTEiE, gﬁaﬁﬁmmwmw@aﬁ. T e foell aToTe oed 7 feaw
12.00 T FF 2.

(1) 49Um=a (2) 10 GHEBw (3) 11 9 (4) 3guH

5
Exactly seven hours before, it was five hours before the 3 of the day remained. What is

the time now ? Day begins at 12.00.
(1) 4 pm (2} 10 am (3) 11 am (4) 3pm
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96. HrEA.
2 2
(31 +z§] - [31 _zé]
4 7 4 7
242 247
1 = @ - (3) 238 4) 240
Simplify :
2 2
[31 +z§] - [31 -zé]
4 7 4 7
242 247

(1) — (2) — (3) 238 (4) 240

97. UH SIS S5 FICHIAT Shoere fqoe o1, S ST sl 40 9.7, R o A= ¥l
3

ST A [—2»]112 TR, T ARt o] fedt /.. 9 ?

(1) 60 9.4 (2) 209 () 3094 (4) 1591

The area of rectangle is thrice that of a square. Length of the rectangle is 40 cm and

3

breadth of the rectangle is [5] times that of a side of the square. A side of the square in

cms is :

(1) 60 cm (2) 20 cm (3) 30 cm (4) 15 cm

3 - 4

98. VR U AR - W WO SRS A AR I 15 T . S0 SRS SR o 5w it

W T = 39 19 fff W@, T g qul JRoe Seed TR o9 Sl
(1) 20 f&w7 (2) 25f®U (3) 24U (4) 23 f

th th
4
If the weight of % filled water of a bucket is 15 kg and the weight of T water of the

bucket is 19 kg. Then find the weight of the bucket completely filled with water.
(1) 20kg (2) 25kg (3) 24kg (4) 23kg
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99. UF HRUTHE FifeX 7.50 %, 8 %, & 8.50 T. J1 o | a1 oY 4210 Wil HYal. R o T
FuIE 4000 T. @9 HUd 80, W I Gl gfafedt fFd v wd Ade?
(1) 7% 9888 2) 8% (3) 8% 50 @4) 9%

A car owner buys petrol at Rs. 7.50, Rs. 8 and Rs. 8.50 per litre for three successive years,
What is his approximate average cost per litre of petrol, if he spends Rs. 4000 each year ?

(1) Rs.7.98 (2) Rs.8 (3) Rs. 850 (4) Rs.9

100. SR n=1+x W07y & FHIR IR dEAi=1 TTER AR, N WOtoH! T& fHum Fiom ?

(@) n ¥ fovm Gem

(b) nT g@ gEm

(¢) n@ it gemn

Tt S

(1) (a) ¥f () = w (2} (a) S0 (b) A= wA
(3) (a) P (4} (0w

If n=1+ x and x is product of four successive numbers, then which of following statements
are correct ?

(a) nis odd number
(b) nis prime number
() mis perfect square

Answer options :

(1) (a) and (c) both true (2) (a) and (b) both true
(3) (a) only (4) (9 only
-00o0-
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o — (qu T 08.... )

@) wrYfmEnsl fafen woom ffre Iy = W (6 9F) FE. TEqRahefdia Iaafahat o
TR FIERR F= FH HeA™ § HIG FOGA W FS SR, 37 HHAS RS § AR IHIIRET
WA TR e udemed Br IRysRie Yy sRwameEay sfutrm-2 " anie REEeR SR
FE Ao T Nl A FAIS T Furs BRI A0/ 398 1 @R wEe gere faem
U 8RS,

(9) TR FEREE FEmm fafed ¥ 9% oo SAEaRl € WARER T Al qhTnase
U3 WV TEE TR, WIS GOMT HHTERT STOATgE] SHEANIT UedT IeRdiFdar HiT-1
THAEEHS T frwen TR H0 Sravas

AHAT U9H
Pick out the correct word to fill in the blank :
Q.No. 201. 1 congratulate you
(1) for () at
(3) on . (9  about
T TR 9 WY () on” ¥ R, WIS A TR SW ()" TN, A TSoun I
%. 201 YiHI® SA-%9F Q)" T %Y TEAAYAS qoiT grEifEg w1 qrafan
AT AL

1%20 D @ . @
379N YGa URA YR dle Yo YT qHEl SUGRHIE 1 gRlel Ao aden
ITWAFTE o T TAHRAFEAS Fafda 9 qUq0 SEifed w7 qEaEl.  gasiar
e T e Atenw agaa, Ui ar wmde U s A4,

your grand success.
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